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BOOKS - CENGAGE MATHS (ENGLISH)

CROSS PRODUCTS

— - : : — =
1.Let a and b be two vectors of equal magnitude 5 units. Let p , ¢ be

- = - =
vectors  such  that p =a—b and g =a+b. If

L
‘? X ?‘ :2{)\— (E) b) } , then value of A is

A. 25
B. 125
C.625

D. none of these


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_L3btsKpAZPBW

Answer: C

° Watch Video Solution

2. Let?zﬁ—}'-i—fc,;): —33’+2I§: be vectors and w be a unit

vector in the xy-plane. Then the maximum possible value of
= =N\ =,
‘(u X v)Hw‘ls

A /5

B. /12

C./13

D. /17

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_L3btsKpAZPBW
https://dl.doubtnut.com/l/_rqTWHZ64rZ1f

- 7 — , .
3.Let @, b and c are three unit vectors in a plane such that they are

equally inclined to each other, then the value of
— — —
(@5 0) (05 @)+ (¥ 2) (¢ @)+ (¢ x @) (¢

can be

_y
b

Answer: A

° Watch Video Solution

4. The coordinates of the mid-points of the sides of APQR, are

(3a, 0, 0), (0, 3b,0) and (0, 0, 3c) respectively, then the area of APQR is

A 18\/bzc2 + c*a® + a*b?


https://dl.doubtnut.com/l/_naIHHTXhjrmY
https://dl.doubtnut.com/l/_j1tRVxk2JdCZ

B. 9\/172(:2 + 2a® + o’

9
C. E\/b2C2 + c*a® + a’b?

9
D. 5\/b2c2 + c2a® + a’b?

Answer: A

° Watch Video Solution

~ ~ ~ — — . . -
5.1f @ — i+j+@52zp:1md3>:b=j—h then b is

/N

@i — 7+ k(b) 27 — k() % (d) 22

A3

B.9

D.12

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_j1tRVxk2JdCZ
https://dl.doubtnut.com/l/_obEpvUyEUuQA

— —
=0 (d-7) (V7)) -
— —
C =Xd tpub +w<7>< b
Ap?+ow? =
BA+pu=

Answer: C

such that

and

o Watch Video Solution

7.Let A ABC be a given triangle. If ‘Bfi — tBC

then A ABC'is

A. Equilateral

> ‘AC’

foranyt € R


https://dl.doubtnut.com/l/_obEpvUyEUuQA
https://dl.doubtnut.com/l/_nNwAo8KMQt1G
https://dl.doubtnut.com/l/_XH2NqnvyMNpg

B. Right angled

C.lsosceles

D. None of these

Answer: B

° Watch Video Solution

8 If a,b are vectors perpendicular to each other and

o 'Y - = 7 - .
‘a) = 2, b’ =3, ¢c X a = b,thentheleastvalueof2‘c — a‘ls

Al

B.2

C.3

D.4

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_XH2NqnvyMNpg
https://dl.doubtnut.com/l/_zFp853hK9vVQ

%

Y — —
9. a and b are two vectors such that ‘ a) =1,|b|=4and a. Vecb

- — — — -
=2.Ifvecc=(2a x b | —30b then find angle between b and c.

®|§n u>|§° ol w3y

Answer: D

o Watch Video Solution

- —
10.If @ and b are non-zero, non parallel vectors, then the value of

2
+

2
equals

— b

— —
s a4+ b—axb

E}—Fb—kaxb

%
A.(1+E>.E>)(1+ b.?)

B.2(1+7. ?) (1+?.7)


https://dl.doubtnut.com/l/_zFp853hK9vVQ
https://dl.doubtnut.com/l/_lWTDbEtX3LuO
https://dl.doubtnut.com/l/_G3CGP9th6gRO

Answer: C

° Watch Video Solution

M If a® + % + & = 1 where, a,b,c € R, then the maximum value of
(4a — 3b)® + (5b — 4¢)® + (3¢ — 5a)? is

A. 25

B. 50

C.144

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_G3CGP9th6gRO
https://dl.doubtnut.com/l/_Y97FZ6InuRvm
https://dl.doubtnut.com/l/_XbZEdXhPOGbJ

— 7 = - 7 - =
12. Three vectors a, b, ¢ are such that a x b :4(a X c) and

— 1 7 7T

‘7‘ = ’ b ‘ = land ‘?) =71 If the angle between b and s 3 then
%0
b is

Ad +4c

B.d —4c

cac —d

D.2¢ — @
Answer: A::C

o Watch Video Solution

Y e .
13.1f2a,3b,2( a x b ] are position vectors of the vectors AB,C, of
— - 7 . ..
A ABC and ‘ a ( = ‘ b ‘ =1,0A. OB = — 3 (where O is the origin),
then

A. Triangle ABC is right-angled triangle


https://dl.doubtnut.com/l/_XbZEdXhPOGbJ
https://dl.doubtnut.com/l/_zVB93qk8DtqP

B.Angle B is 90°

7
_ -1
C.A = cos ( —19)

o o= T
D. The position vector of orthocenteris 2( a x b

Answer: A::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_zVB93qk8DtqP

